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. .trict is known as ‘Cotton
1. What is freeze line in blow film ? 5. wh“:,h d;str;na 5
{A) It's height from die face at city’ in ﬁa!"/ .(B) Rewari
which the melt freeze. (A) Hisar lwal
(8) It's width from die face at (C) IJhajjar (D) l’?avwa "
which the melt freeze. el 3 fea ft W HE WS
(©) Iftr' éeiimeter at which the melt wémW% ?
(D} It's radius at which the melt (A) IR (B) I
freeze. © gEddd
N N ) #=K (D)
S fFea B B AR T2 ? =) the State
SN . 6. In which town of Haryana, the :
(A}~ ETiﬁ i m e W Government  has banned sale,
ST | possession,  consumption and
() 31 FW H wEeh en i w purchase of non-vegetarian food ?
e Sm S 2 (A) Pehowa (B) Sonipat
() o =EEwiTaETT T | (C) Karnal (D) _Rohtak
(D) e B R w aeesw s g | <REnT ¥ frg TR H ToW R A
What is the axis rotation speed ratio HIETET e hl farshl, wa, SRRl
of primary and secondary axis in it @hie g wfay e fear @ 7
rotational moulding ? e
Apbidile ay” fREr (B) HHIUT
woff Aifeen # wafie 3 fdizs a1 tC; FoE (D) UEdw
?
W&%Tﬁﬂﬁl@?w% ' 7.  Where is Haryana Public Service
(A) Equal/8uT(B)” 4:1 Commission situated ?
() 1:4 (D) 4:3 (A) Sonipat (B} Panipat
Which of the following animals is (C) Gurugram (D) Panchkula
worshipped as part of the celebration EioT <k [T T FEl fRId © 7
of the Gugga Naumi festival ? (A) =g (8) urftug
(A) Snake (B) Rat (C) TEum (DY U=t
(C) Elephant (D) Cow 8.  The Yamuna river flows in which
T’“:ﬁ‘ﬁ Ed‘IBIE% Sq % S . of Haryana ? R
Fratufaa § | fra et 6w Bl (A) Southern (B) Eastern
r,mﬁ{/% ‘i (C}) Western . (D) Nor\t.hern
Ay &g (8) A1 ¢ BRamn = fore e w2 7
€ weit (D) T (A) efeoft (8)” geff
Bhagwat Dayal Sharma, the first CM of (C) wfy=nit (D) I=fi
Haryana, represented which constituency ? . .
WNB Bhinni () Tosham ?{ lcr‘\as ;\::‘c:] \.nl'lage was  Haryana's
(Q) Pataudi (D) Jhajjar (A) Beri “S'C'a"(gale Bhagat born ?
T F TEd gEIn Wi @ (C)  Sisana (D)) :2?;' eif
i 3 fea fate g = st M%Wéﬁma‘rﬁo =
e e 2 1 fem i g e e
(A) TEEi  (B) Al A) 3 53128) e
© W& (D) w=R (cr” v

(D) A HE
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10. How many Municipal Corporations
X arethere in Haryana (till Nov. 2020} ?

g 5 f R fom L 2020

%) 2 7
(A) 21
(8) 11
(€) 16

(D)”” None of these/s70 & 7 7

11. Which of the following lakes is
present in Gurugram ?
(A) Badhkal lake
(B) Karna lake
(C) Damdama lake
(D) Dhauj lake
g i P 5 o e e @ 7
(A) weHd it (B) ol gfter
(€ ewemrsfied (D) i st

12. Sub-tropical Pine Forests are found
in which district of Haryana ?
(A) Ambala
(8) Panchkula
(C) Yamunanagar
(D) All of these
Sorsfeatiy SR I gham % 58
ISSR: RIS ICE
(A) SiErem  (B) TEEAT
(C) IR (DY/?}?""ﬁ

13. Central University of Haryana is

situated at which place of Haryana ?
(B) Mahendragarh

(A) sirsa
(C) Hisar (D) Gurugram
s i frafyaea gl *
fraemwRas ?

(A fEr (B) T

(cy” fear (D) TEH

14. Which place of Haryana from the

X

15,

16.

17.

following has no rai :

(A) Mahendragag:hvay Bt

(B} Mewat

(C}  Kaithal

(D}  Sirsa

= 8 g BET &% v wm 3 o
A TE R ?

(A) WeF®  (B)” Aam

€ Fa (D) fywn

Gurugram-Manesar-Bawal region s
famous for production of

(A)  Pharmaceuticals

(B) Automobiles

(C) Agro-products

(D) IT products

TR -AHER-aEd 85 &
IedTeH o fore TR @ |

(A) B RwHed

(B) SAicmraTset

(€) Fi3wIg

(D) 3T ITE

How many districts are there in
Haryana state ?

R U A feam e 8 7
(A) 10 (B) 15
(cy 22 (D) 35

Name the Haryana born space
scientist who died in the year 2003
during a US space shuttle disaster.
(A} Saina Nehwal

(B) Arunima Sinha

(C}) Kalpana Chawla

(D} Sunita Williams

ghamon § s=f siaie dE &1 am

wargy, o ¥ 99 2003 ¥ Iy
STatter g ST % Sra g8 o |

(A) ETEHHEE

(8) 3wRm R

(C)” eT=T IraeT

(D) Eftar falerm
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Crocodile Breeding Centre is situated
in district of

(A} Panchkula (B) Kurukshetra

(C} Bhiwani (D) Hisar
HRH=S ot g by R i fRa R 2
(A) dEHE  (B)” weem
(© fart () fur

Who is writer of “0 Deepak Tum Jalte
Rahna | aur Desh Ko Naveen Tyaag
Chaahiye 1” ?

(A)  Uday Bhanu Hans

(B)  Devi Singh

(C) Dayachand Mavyna

(D}  Murari Lal Sharma

"I G U IO @ | i 2w )
T AT U F AEswaE ¢
(A) SIT3EE () It RiE

(C) @S (D) Hd e vt

SAl  National Boxing Academy
(Rohtak) was established in which
year ?

SAl TEHT gasarsll Teert (Jgass) 6
T fopg S g8 oft 7

(A} 2016 (BY” 2017

(C) 2018 (D) 2019

Under Dr. B R Ambedkar Awas
Navinikaran Yojana, how much grant
is provided to SC, nomadic and
roadside persons living below poverty
line to repair their house, in 2021 ?
. f IR ETH ™ FHAEH
A1 < ded 2021 o Tl War @ =
g 99T HE 9t 3Egaa Sfd,
e A FSF fFR W a9
=afaadl sy 396 9 6 A & forg
ToramT Sgem wem P smar g 7

(A) % 10,000

(8) ¥ 50,000

(©)” % 80,000

(D) None of these/gi & &3 sTal

22,  Which of following award is given by

23.

X' Haryana Sahitya Academy ?

(A)  Kunwar Mohinder Singh Bed;

Award

(B}  Guru Virjanand Acharya Samman

(C) Jankavi Meher Singh Award
(D) None of these

T 8 I 1 QR fea a7
(A)  FTifee bz 23 ger
(B) % frwig araTd Hr
(C) Siefe Hew 188 Tehr
(D) = & B3 TE

In Tokyo Olympics, Indian contingent
included 126 athletes. How many of
them were from Haryana ?

A el §, YREg T F 126
Tl WA & | 390 9§ e i
g7

(A) 25 (B) 10

()7 31 (D) 50

Daksh Khera is an archaeological site,
located in which district of Haryana ?
(A) Hisar
(B) Karnal
(C) Rohtak
(D) Faridabad
T8 @Y, TH QUi et 2hamn S
fra e i fRm 2 7
(A) fear
(B) @A
(©)” Vgereh

(D) wlemEme
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25. The book ‘Cricket My Style’ has been
written by
(A)  Sunil Gavaskar
{B) Mohinder Amarnath
{C) Imran Khan
(D} Kapil Dev
Trhe T wRe wom e =T
foei e 2o

(A) e e
(B) TSt sy
(C) swmEm
(D) =hiter 2y
23. Which of the following is called the

storehouse of world-art collections?
(A} National Archives of India

(B) National Museum

(C) National Modern Art Gallery
(D) Salarjung Museum

Frafelea o @ f5d fyg-wer Soai o
UST 7§ RTS8 7

(A)  9RT % TP Aferar

(B) TR U

(C) et HisH 31 tert

(D)~ ETARSHT HHETed

27. Who was the First Speaker of
Independent India’s Lok Sabha?

(A) Hukam Singh

(B) Bali Ram Bhagat

(C) RabiRay

(D) G.v. Mavalankar

WA W Y T |91 % e AN

HAA?

(A) Tu TiiE

(B) sfer T wma
© g

- (D) Sit.&f. ArEest

28,

29,

30.

Which amidst the following planets

has its orbit closest to Sun ?

(A)  Venus (B} Mars

(C)  lJupiter (D} Uranus

trafafea # 3 feg g < wan o &

qay e g ? a¥y,
- ‘x.

(AY" I (B) W& :

€ wewia (D) T

Constitution of India considers free

and  compulsory
children upto -

(A} 10years (B)
(C} 18years (D) 21 years
URA HT A" g= W qed sii
et e w frem a2 -

(A) 10WRI T (B)” 14 Ul 4

education to

14 years

(C) 189 as% (D) 21 9T o

Who is popularly known as the
Grand Old Man of India ?

{A) Dadabhai Naoroji

(B) Madan Mohan Malaviya

(C} Mahadev Govind Ranade

(D} Surendranath Banerjee

T =i ¥ W ara F e afee
A S ST A AT @R ?

(AY" SremTS Sh

() HEH WiEH Ao

(C) weTes Mg TR

(D) T el
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What would you do to prevent
environmental damage ?

(A) Planttrees

(B) Halt deforestation

{C) Control pollution

(D) All of the above

TRl & A At 3 fore sy
w7

(A) TzTEmd |

(B) =i <t e O |

(C) weuur =t fraifyg =t |

(D) Iures wef

“Anandam : The Center for
Happiness” has been inaugurated at
which institution ?

(A) ITBombay(B) IIT Madras

(C)  UMJammu (D) IT Guwahati
"STHEH : § T BR AWE" T STeTe
Tera T A T mr 27

(A) IR T

(B) IS Hg@

(C) SATE3STH S,

(D) HATEIMES AR

Which of the following is wrongly

paired ?

(A) Teachers’ Day — 5% September

(8) Republic Day — 15% August

(C) Martyr's Day — 30" January

(D)  Children’s Day — 14t November
Trafafaa § & w5 v i e@ 27
(A)  Tieges gy - 5 faden

(8Y” Torcr fmm - 15 3 - D G
© T fmm-sosmat N

) Wﬁw-mﬁa{ Dk, P
{

3372

6

%j/Arrange the given words |,

) alphabetical order and select the gpe

that comes last.

few e wrect =t ity 7 Srafer
3R ST Had 37d § T & 38 T |
D/u/st, 63ration, Duplicate, Dumb,
Ductile

(A)‘/Duration (B) Duplicate

(\"/Dust (D) Ductile
/

35, 3:5:9:?

{A) 8 (B) 12

() 15 (D) 17
36. Today is Monday, after 21 days it will

be

(A} Sunday (B} Friday ;2

(C) Thursday (D) Monday
- [ ST AR R, 21 T wre g
T W (B) aR
@ TER (o HmER

37. At 4:30, the hour hand and the minute
hand of a clock form an angle of

(A) 60 degree (B) 70 degree
(C) 90 degree (D) 45 degree
4:30 =, uSt Y wvd i gd ik fe
1 ¢ om0 w51 Pt et 2

(A) e6ofeft () 7vofeft

(©) 9gofaft (oY 45 it

EE

(o — (g3 , 2021 2
k -
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3 if in certain language SYSTEM is
coded as SYSMET, how is CANCER
coded in that code ?

o fpet Tfesa 9 ® sysTem =i
SYSMET & &9 T Sifsa e wimar 2,
@ 36 %S § CANCER 1 $3 =ifeq
fepa ST 7

@/ RECNAC (B) NACCER
(C) NCAREC (DY NACREC .~

) Find the missing entry in given series
following the same pattern.
T U ST K g @
*perett H g wiafe sa Hifv |
SYF 754/9600 /1,313
ABC, (?), EDG, GEI, IFK, KGM

(A} ECC (B) CFD @ E
(C) DFC (D) CCE_—

A person moves from home position
towards east by 10 km, then turns
right and moves by 6 km, again turns
right and moves by 15 km, again
turns right and moves by 6 km, again
turns left and moves by 1 km. How far
the person is from home position ?

(A) 16km  (B) 6km

(C) 25km (D) 12km

U oAf 39 W H fRafa @ = H
HAR 10 Rt Terar 8, 5T od gean @
3t 6 forHft Terar 8, A g gear @
3R 15 fert <erar 8, 5T 8 S gear 8
3R 6 Fprft e &, R ad gear @
3R 1 fpft werar 3 | 98 ARE WS

\o

Ry & Rt qr 22
(A) 16feh (Y6 T
© 2nfsf (@) nfEH O
2921
Wi -
= AL

-

/41,

42,

(€)

Pooja, Rani, Rohan, Suresh, Teena,
Umang, Vivek and Willa, eight
friends are seated in circle facing
each other. Vivek is third to the right
of Rani and second to the left of
Rohan. Rani is second to the left of
Teena immediate right of
Suresh. Umang is between Rani and
Teena. Pooja is not at the left of
Rohan. How many persons are sitting
between left of Pooja and Right of
Willa ?

&, THT, e, T, &, 397, faaes
3t forew, 3118 Aw T qR A 3N
G T RIS E | R, TS
7 & i 3t e T B g T
W T, 1 aR A gEd o giw
¥ gia o R | i, T ik A S
S AR | O, U S 9 AE ? |

and

% a3 e % o & o e/

A 1 (Bf/z ‘ 0%
'5)1 i y

€ 3 (D) 4 A
Eie -

Choose the Venn diagram which best

explains relationship among given
items :

Colour, White, Red

TE 97 IR T S 2 TS gt % <l
o ! FEH I e A A R -
T, Ahe, el

(A) (8)
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| 43. In how many different ways can the
letters of the word “POTATO” be
arranged ?

‘POTATO” ¥ig & FeRi 1 fened
1 - AT ol § SaRne fear o

THA 87 ERa

| (A) 120 (B)“ 180 P
| (©) 720 D) 360 |
44. Find the area (in em?) of

' Y{ \,\

[

/o1 (AFF1/105
7 (0

DTS

,34\, parallelogram, having base 18 cm
and height 20 cm,

HER 18 T 3k = 20 St ar
TH ST H1 e (s 9)
T I |
(A) 90

(C) 180

(B)

(D)~
1.68

= —,thenx=">?

270
360
e

0.168

if — =

16.8

.q.% 0168

16.8
(A) 0.168 (B) 16.8
(C) (DY 168

1.68
Find HCF of (E ,Z ,ﬁ). v

(j , 14)a:rHCF$Tra?ﬁﬁq1 —
(B) 1/98
(D) 1/126

A bus moves along the four sides of a
square at the speeds of 100, 200,
100, 400 km/hr. Find the average
speed of the bus around the field in

1/21

——=km/hr.
7‘3‘7‘ ~ T w9 uF a1 % 91 3K 100, 200,

100, 400 feprft/=er i 1fer & =@l 2 |
I F St ol =g ) sfw T

ﬁf“ﬁ/ﬂaﬁmﬁﬁq l W
(A 145 45 (B) 154.45
(t/:i" 16243 (D) 16449
- (g =pbos o A
% g5y e

_lcf
168 Ax= o (0&¢X(CP /J

{

(ereeq
[ o=t

AT

LJ Pure ghee costs ¥ 210 per kg. After

¥ mixing it with vegetable oil costing

¥ 100 per kg, a shopkeeper sells the

mixture at the rate of T 170 per kg

thereby making a profit of 10%, |

what ratio does he mix the pyre
ghee and vegetable oil ?

e H FHa 20 v it 2 1w
g 100 v et & swreafa 99 & Oy
e & 9., T gHeR e @
¥ 170 witr foen & X W d=a 7, R
10% 1 @Y BlaT 8 | 98 g H 3ik
FEfa et w1 form s o fremar 2 ¢
(A) 60:59  (BF 59:60

(C) 61:60 (DY 60:61

49. What will be the difference between

simple and compound interest (in

rupees) at 8% per annum on a sum
of ¥ 10,000 after 2 years?

2 9% =g ¥ 10,000 ¥ TR W 8% whY
a1 Bl 0 B Hremon S sl s %
=i 1 S (T H) gy
(A) 50 (B) 58

(€) 70 (D) 64

Mhe sum of three numbers in an A.P.

is 15 and their product is 80. Find the
largest number.

Th g 5 AT et e am
15 8 3R I EEA 80 2 | T

F

P 1«73’

O

Y GY
.
(J-w)

=<1 9T T HifT |
(A) 10 B 8
2 (D) s
8 lo L 292

£, f/ 5, %

4=
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51_7 A can do a piece of work in 20 days.

~ pand Ctogether can do it in 15 days,
while A and C together can do it in
12 days. In how many days ‘B’ alone
can complete the same work ?

ATHE R B 20 AT T a2 |1 B
ARchem s is i dmams ¥ |
SateR A J C e 58 12 R ax
HHG 2 | el ‘B I 5™ = fey
et A U e R 7

(A) 28 (8Y" 30
(C) 25 (D) 22

~2©

52, Name a device which is used to
convert mechanical

o W e (0

9

54.

energy into
electrical energy.
(A)  Dry Cell -
(B) Daniell Cell 210 0
(C) Dynamometer (7DV”L ((57 o
(D) Dynamo — v
SE UKL T A1 =AY et 3w
3t it 1 g st § s ¥
fag R s 2 |
(A) gEdE  (8) Fd
(C) sEAEHEE (D) SEw) <
53. A machine which works on Pascal’s
law is known as ‘
(A)  Vernier caliper
(B}  Hydraulic press
(C) Barometer
(D) Screw gauge
RS & Trem o we e St TR
HEATA! & e
()RR =
B SR T
A CS)
© HNfx < — (5 .

£

Thermal power plant is considered

as a bad source of energy. Why ?

(A} As it uses very less amount of
fossil fuels.

{B) As fossil
releases harmful gases.

burning of fuel

(C} As electricity is harmful and
pollutes the environment.

(D} As thermal power plants
produce less amount of
electricity.

S T WA 1 Soit T @O HJid

HHATST g | Rl 7

(A) =ifh g gd W AET H Saw
349 HT YA HLAT 2 |

(B)—itfs S $m H el @
B N et § |

() wifs fooeh afems 2 ik
TEieeT i TEfid S @ |
il el TR e W AE i
Terorelt b1 Seme F € |

Increased levels of air pollution

results in

(A)  Acid rain

(B} Global warming

(C) Respiratory problems
(D) All of these

I YU F T BY WX T RO

AR g |
(A) AT T
(B) Teitere Yo
(C) vau Heft goend o
(D) 3=t

(mACD
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Pick the statement which is correct 58. Problem of solid waste disposal can
about the non-metal, be reduced through
(A)  Bris an example of liquid non- (A) - Recycling
metal. (B) More pollution
{B) Graphite is a good conductor (Q)  Merediibes
of electricity. (D) None of these
3E uiRE Fuem S gnmr =
(C) Most of the non-metal oxides 3 3 forg
are acidic, PH TR S
(D} All of these /% l '
: . (A)~ Srarsfaem
I FUT I I FINF TR D )
(A)  wiftE ) R
S| =0
ST 1 0% SR | (C) TR oehel
(B) ﬁmﬁﬁwwm% | (0) THIEETE
(C) ferpiwr 3targ sttemmEe sl
21 59. Which of the following is not a
(D)\/ﬁH‘Iﬁ water-soluble vitamin ?
A(A) Vitamin B1 (B) Vitamin C
. . L c\LXC)  Vitamin A (D) All of these
Which of the following acids is the @ » :
, 3 - Frferlea 3 & o ar ot 3 gemsfia
strongest acid ?
[EREEE R
(A) HClpH1 (
G (A) fefmdiie) feftmd
(B} CH,COOH pH 5 F
? (€7 fafme (D) Fmb
{C) Lemon juice pH 2.2
(D)  Pure Milk pH 6 60. Which of the following organs i
FrfiRea § @ =19 @1 ove Ed yaa known as graveyard of RBCs ?
A ? (A) Spleen (B) Kidney
o ’ (C) Liver (D) Gall-bladder
A Qﬁ'{frqad“r@ - . .
) v Ro=EE freifeiRaa & frm i o s 3
(8) CHCOOHdmms o1, ) i % T & T 2
-
€ HFgsrwdeg 2o (A)" wATar (B) %
0 Wgdws ST © =@ (D) frwE
v

10 29.
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English Language

identify the correct synonym of the
word : Adherent

(A) Descendant
(B) Divine
(C) Devastate

(0) " Disciple

Identify the antonym for the word -
Compress

(A)~” Rash Lessen

@)
(C+" Harmony (D)Amplify

Choose the word which can be

substituted for the given

words/sentence:

Large scale departure of people

{A) Insource

(B) Transition

(C) Excommunication
(D)‘/Exod us

Choose the correct preposition to

complete the sentence :

My uncle has invited me to his place
three o'clock this afternoon

. tea.

(AL~ on; to
(B)*at; for
(€)
(D)

from; for

during; so that

11

65.

66.

67.

Choose the correct article to
complete the sentence:
| can't live on

month.

(A) a

(B) an

(C) the

(D)~ No article required.

50 pounds a

Which part of the following sentence
is incorrect ?

Nitin have been preparing for the
test since last night.

(A)~"Nitin have been

(B)
(C)
(D)

preparing for the test
since last night.
No Error

Fill in the blank with the correct form

of verb :

He could not sleep because he
(bite) by mosquitoes.

(A)—was bitten (B) bit

(C) bought (D) had bitten

Choose the correctly spelt word.
(A)  Priviledge (B) Privilege
(C) Previlege (D) Privillage
Choose the meaning of the italicized
idiom used in the given sentence.
We don’t want to comment further
bit it is ‘The elephant in the room’.
(A}  To fail in a spectacular manner
(B) “"An issue, person, or probiem
that someone is trying to avoid

{C} Joking with someone
(D) Reading or hearing something
from the source E
n
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Tt v
70. B AR ER T TS T Ta S R ¢
(A} T - sI=duE Tgs
(8) YA - g EEE
AQ) 7T - gz T
(D) m—mm

7. TEmEmIafm e a=in s
fo s w2 -
(p) Tl
(8) Toawsfim
“0) e
(D) FEEA

72. Fadashmafu-aDewd 782 ¢
(A) W + IEY
(8) =1 + HH
(744 + FHA™
(D)~ T@r + 3ifepa

73. Toafafea 7 3 fea fawes 4 @1 e
TER 7
(A) HHerar
(B) ®wmar -
»(C) giwftar
(D) W

74, Feisfea s o v ssg? 7
(A)  OrReifES
(8) =wEris
e (¥ i i
(0) I miiEie

75. TH Uich % Sg-93 oA HER W Gl
g7
(A) ETeT ¥ wiwa e
AB) i w1 E-|I A
(C) =EAM HET
(D) STNE W FH EHI

76, Frefeiaa § § wiF @ fasn 3o el T8
S
(A) fawar - quan
(8) fasm@ - e
{c) waH - vfdmE
(D) FHES - 3G

77. frw d d fem freew & ot vl 1
T s e s () s gan 27
(A) e, g
(8) - g, frardt
(C)  ATHIUT, A&

(oY Tefingref, geferal

78. U S IR # | i (a7) @

Te-TREg 2 -

(A) mw,m,w

(8) Hffa FemEras  fmww,
uherH, Hifem

A0 - T demEs @,
Tga=, faorey - g

(D) vimwErES  frmu, g,
oo - g

298




1

er an____device.

lnpUt

g ouPt

(C) BOth (A)&(B)
(D) None of these
fawH__ Fwe |
(A) %9

(B)~ AR

(€ (AT (BT
(D) T § IS AR

The movement of text, graphics,
sound, movies, charts and other
objects on a slide is called

(A} Handout (B) Animation
(C) Miniature (D) Editing

TH RS W SR, Ui, WSS,
T, =9¢ 3R gEl w%g W T
eI &

(A) Tz (B)7 CERH

() ffwat (D) WA

In a time sharing operating system,
when the time slot given to a process
is completed, the process goes from
the running state to the
(A) blocked state
(B) ready state
(C) suspended state
(D) terminated state
T T §d e o H, 99 O

oy ) fon T @ ol & W 8, @
o T ST & T S 8

(A)  3Iaeg I

(B) e 3rae

83.

84.

Join Telegram Group "HaryanadJobs.in"
82.

In MS Word, to cut or copy text you
must first

(A) click the Remove duplicate.

(B) click the Copy or Cut command.
(C) click the Edit menu.

(D) None of these

MS Word T, 23 %1 ®¢ a1 1l
¥ fore 3mue! e

(A)  foa gt i TR TR |
(B)~ <hidl AT e TS I faxid B
B |
() i gt faereh BT & |
(D) T FHE @

What is the ratio of phenol and
formaldehyde in resol ?

e § fediiw 3t BiAcisass i

FTAIG T8 ?
(A) 1:25  (B)” 1:15
ey 1.5:1 (D) 1:0.8

Which plastics melts and drips during
burning ?¢

(A) Polypropylene

(B)  Polyvinyl chloride

(C) Polystyrene

(D) Polycarbonate

HH T IS I S O e
A TaHA R ?

(A)  iCHIEEH

(B) UTAIISHIEH FAISS

(C) uieieeEiH

(D)~ iHATHIE e



85.

86.

87.

Join Telegram Group "HaryanadJobs.in"

What is the unit of melt flow index

test ?
(A) g/60sec (B) g/10 minutes
(C) g/1minute (D) kg/10 minutes

e yaE gosis wee 6 s
G ?

(A) g/60%Fe (8)” g/10 fire

(€ g/1®e (D) kg/10fme

Which clamping system is called
positive clamping system ?

{A)  Hydraulic clamping

(B) Tie barless clamping

(C} Toggle clamping

(D) Pneumatic clamping

Tp =AM Rreem = wiiis 3R
et Faroma g 2

(A) BIEgIfeTes Sty

(B) TR IR Uaa =i

(C) V"ot Tt

(D) SrER TR

What is the function of Torpedo ?
{A) Mixing

(B) Toincrease compression ratio
(C) Toincrease space to mass ratio
(D) L/Dratio

ZRAIS T wrt gy 7

(A) T

(8)  ¥HeT argura wgry
C)"wwma S ST ST

(D) /D 37w

88.
X

89.

90.

Which type of mould require
accurate weighed charge material i
compression moulding ?
(A) Flash mould
(B}~ Positive mould
(C) Landed mould

Semi-positive mould
z(#Dcf)lz? Tﬁ%i T 58 TR & Hics §
gds uia = gl i SEveq

F g ?

(A) TR HITS

(B)  UilNies Hies
(C) vicsHIesS

(D) THi-uiRrfea Aes

Which type of die is used for heat
stable material ?

(A) Cross head die

(B) Torpedo head die

(C)~” Pin head die

(D) Collapsible head die

SRR a3 e g woR 3

313 T 3T T ST 2 2
(A} wEgseE (B) whdidideer
€ THgssE (D) durdt iz

How the polypropylene film
manufactured ?

(A)~ Vertically downward

(B) Vertically upward

(C)  Horizonta|

(D) Vertical

WeRSTITSei Rrew @57 fior +a T
S ?

(A~ <Terer arefigeh

(B) e Sreaint

(€) &fqwr

(D) wEaq
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